John Keats: Ode On A Grecian Urn
1. - Which words suggest the silence of the urn in the two opening lines?
- The silence of the urn is underlined by the use of the sibilant ‘s’ sound. Underline all the words in the two opening lines that contain an ‘s’ sound.
- Explain the paradox in the silent urn expressing a tale ‘more sweetly than our rhyme’.

2. Find an example of metonymy in line 4. (Another example of metonymy: “We are going to read Shakespeare quite soon”.)

3. As he looks at the scene depicted on the urn, the poet feels uncertainty and excitement. How is his heightened emotional state conveyed in lines 7-10?

4. The second stanza introduces the paradox of ‘unheard’ melodies. The poet says they are sweeter because they ‘Pipe to the spirit’. How do you interpret this concept?

5. In the second stanza the poet suggests both positive and negative consequences of the immobility of art. Are the following aspects positive (P) or negative (N)?
     thou canst not leave / Thy song ___
     nor ever can those trees be bare ___
     Bold Lover, never, never canst thou kiss ___
     She cannot fade ___ thou hast not thy bliss ___
     Forever wilt thou love ___ and she be fair ___
6. Extensive use is made of repetition in the third stanza. Which words are repeated? What does the repetition of these words highlight?

7. What do you think is the reason for presenting the mysterious second scene on the urn in stanza four?

8. The poet uses different expressions to address the urn in the fifth stanza. Which expression:
- highlights its silence?
- underlines its beauty?
- indicates where the urn is from?
- suggests that it is lacking in human warmth?

9. The poet’s attitude towards the urn is ambivalent throughout the poem. He is fascinated by the timeless, youthful world represented on the urn, but he also sees it as lacking in human passion and the possibility of change. Which expressions in lines 45 and 48 reiterate these conflicting views?

10. The final two lines of the poem have been the subject of much debate. Which of the interpretations below do you feel is closest to your own?

a. The world of art is superior to the real world of mankind

b. An artist, by revealing beauty through his work, reaches man’s highest achievement, i.e. truth.

c. Art can console man through its beauty. It cannot offer solutions to man’s worldly problems.
d. Man should live his life truthfully and in constant search for beauty.

e. Irony: Beauty holds no answers and gives no consummation. Thus, the real world and life in it are superior to the static world of art.
